N
W

Ecuu Installation and Operation Instructions
GROUP" VIGILED II

g9
e

4
4

>3

Ecco VigiLED Il series is a small compact directional LED head with
inbuilt flash controller. Ideal for internal, grille, bumper or rear
mounting they feature a clear lens with coloured LED’s.

e Synchronous or Alternative Flash

e  Dual Voltage — 12/24Vv

. Low Power Consumption —350mA @ 12 Volt / 200mA @ 24 Volt

e  Supplied with accessories for surface or bracket mount

e

e  Fully sealed electronics — weatherproof to IP67

e  Tough die-cast base and Polycarbonate Lens
e  SAE J595 Class 1 (amber)
e  ECE R65 (Amber and Blue)

Model Part Numbers | Colour
EDOOO1A Amber
ED0O001B Blue
ED0001C Clear (white)
EDOOO1R Red
ED0O001G Green

A WARNING!

Failure to install or use this product according to manufacturer’s recommendations may result in property
damage, serious bodily/personal injury, and/or death to you and those you are seeking to protect!

@ Do not install and/or operate this safety product unless you have read and understand the safety
information contained in this manual.

1. Proper installation combined with operator training in the use, care, and maintenance of emergency warning
devices are essential to ensure the safety of you and those you are seeking to protect.

I 2. Exercise caution when working with live electrical connections.

3. This product must be properly grounded. Inadeguate grounding and/or shorting of electrical connections can
cause high current arcing, which can cause personal injury and/or severe vehicle damage, including fire.

4. Proper placement and installation are vital to the performance of this warning device. Install this product so
that output performance of the system is maximised and the controls are placed within convenient reach of the
operator so that s/he can operate the system without losing eye contact with the roadway.

5. Itis the responsibility of the vehicle operator to ensure during use that all features of this product work correctly. In
use, the vehicle operator should ensure the projection of the warning signal is not blocked by vehicle components
(i.e., open trunks or compartment doors), people, vehicles or other obstructions.

6. The use of this or any other warning device does not ensure all drivers can or will observe or react to a warning

I signal. Never take the right-of-way for granted. It is your responsibility to be sure you can proceed safely before

entering an intersection, driving against traffic, responding at a high rate of speed, or walking on or around traffic
lanes. ’

7. This equipment is intended for use by authorized personnel only. The user is responsible for understanding and
obeying all laws regarding warning signal devices. Therefore, the user should check all applicable city, state, and
federal laws and regulations. The manufacturer assumes no liability for any loss resulting from the use of this I
warning device.

WARNING!

Failure to install or use this product according to manufacturer’s recommendations may result
in property damage, serious bodily/personal injury, and/or death to you and those you are
seeking to protect!

920-0210-00 REV D (27-02-2013)



ED0001x VigiLED Il SERIES

EMC DIRECTIVE

This product complies with UN ECE R10 for electro-magnetic compatibility (emc)

To maint
qualified

ain compliance with this directive it is necessary that good installation practice is followed and a
electrician should be consulted.

The VigiLED should be fitted using either the swivel bracket or surface mounted and orientated as shown with
the cable at the bottom.

For bracket mount, drill a 12.5mm (0.49”) clearance hole in the required position. Remove the M12
nut and the M12 shakeproof washer from the bolt. Thread the cable through the centre hole in the
bolt, fix the VigiLED to the bracket using the M5 rubber washers (ensure that this washer is fitted
between the VigiLED and the bracket as shown in Fig.1.), and the M5 round cap screws. Fit the
assembly through the drilled hole, thread the M12 shakeproof washer and the M12 nut onto the
cable and fix to the bolt. The cable should be fitted with a suitable gland or grommet to ensure a
weather proof seal. Ensure that the wire ends of the cable and the end of the cable sheath where
connected to the vehicle battery supply are kept dry by protecting the termination against water
ingress or by sealing in some other way.

For surface mount, drill two 5.3mm (0.21”) clearance holes in the panel 42mm (1.65”) apart, for the
VigiLED to the panel using the M5 rubber washers and the M5 round cap screws in Fig.2. A hole for
the cable entry will be required and a suitable gland or grommet should be used. Ensure that the wire
ends of the cable and the end of the cable sheath where connected to the vehicle battery supply are
kept dry by protecting the termination against water ingress or by sealing in some other way.
Connect the cable to an appropriate power source (10-30 Volts DC); the total length of the connecting
cable from the power source to the light should be less than the 10m (32ft).

Connect the RED to +VDC (fuse@2A)
Connect the BLACK to the chassis ground

If two or more beacons are required to flash simultaneously then connect as follows:-
Connect the YELLOW wires of all the units together for synchronization

When the YELLOW wires of all the heads are connected together, the group 1 heads will flash in
phase (P1) or 180 degrees out of phase (P2) with group 2 heads based in the pattern selected. For
example, if the light heads in group 1 have flash pattern 2 selected and group 2 light heads have
pattern 3 selected, the group 1/group 2 heads will flash in a five flash alternating mode.

Fig.1 . Fig.2. hole=@ 5. 3mm(0.217]

i

{

]
|

AOCRRES)

M5 spring washer
Rubber Washer /
/ Bracket M5x0.8,L=10

M5x0.8,L=10

D

208 | BHEER

(-
O
)

=248, HHEES

M

m I

m £5
\M5x0.8 deep=8 "

T [42mm[1.67

able

able

920-0210-00 REV D (27-02-2013)



FLASH PATTERNS

Number Description

1 FIVE FLASH ALT

2 FIVE FLASH SIM P1

3 FIVE FLASH SIM P2

4 QUAD FLASH ALT

5 QUAD FLASH SIM P1

6 QUAD FLASH SIM P2

7 SINGLE FLASH 75 ALT

8 SINGLE FLASH 75 SIM P1

9 SINGLE FLASH 75 SIM P2

10 SINGLE FLASH 375 ALT

11 SINGLE FLASH 375 SIM P1

12 SINGLE FLASH 375 SIM P2

13 QUAD-SQUAD FLASH ALT

14 QUAD-SQUAD FLASH SIM

15 MODULATION FLASH ALT

16 MODULATION FLASH SIM

17 QUAD-SQUAD SCAN

18 STEADY BURN WITH SINGLE AND SINGLE POP
19 STEADY BURN - 5 SINGLE

20 STEADY BURN

21 CYCLE FLASH

22 SINGLE FLASH 120 SIM P1 (R65) DEFAULT
23 SINGLE FLASH 120 SIM P2 (R65)
24 TURN OFF

To select flash pattern, apply the BLUE wire +VDC

e Lessthan 1 second for next pattern

e More than 1 second for previous pattern

e More than 5 seconds for turn off, when power is reapplied it will resume the previous
pattern

920-0210-00 REV D (27-02-2013)



Manufacturer Limited Warranty and Limitation of Liability:

Manufacturer warrants that on the date of purchase this product will conform to Manufacturer's specifications for this product
(which are available from the Manufacturer upon request), and Manufacturer further warrants that this product is free from
defects in materials and workmanship. This Limited Warranty extends for twenty four months from the date of purchase. Other
warranties may apply, call Manufacturer for details. Manufacturer will, at its discretion, repair or replace any product found by
the Manufacturer to be defective and subject to this Limited Warranty.

DAMAGE TO PARTS OR PRODUCTS RESULTING FROM TAMPERING, ACCIDENT, ABUSE, MISUSE, NEGLIGENCE,
UNAPPROVED MODIFICATIONS, FIRE OR OTHER HAZARD; IMPROPER INSTALLATION OR OPERATION; OR NOT
BEING MAINTAINED IN ACCORDANCE WITH THE MAINTENANCE PROCEDURES SET FORTH IN MANUFACTURER'S
INSTALLATION AND OPERATING INSTRUCTIONS VOIDS THIS LIMITED WARRANTY.

ORAL STATEMENTS OR REPRESENTATIONS ABOUT THE PRODUCT WHICH MAY HAVE BEEN MADE BY
SALESPEOPLE, DEALERS, AGENTS OR OTHER MANUFACTURER'S REPRESENTATIVES DO NOT CONSTITUTE
WARRANTIES. THIS LIMITED WARRANTY MAY NOT BE AMENDED, MODIFIED, OR ENLARGED EXCEPT BY A
WRITTEN AGREEMENT SIGNED BY AN AUTHORIZED OFFICIAL OF MANUFACTURER WHICH EXPRESSLY REFERS
TO THIS LIMITED WARRANTY.

Exclusion of Other Warranties: MANUFACTURER MAKES NO OTHER WARRANTIES, EXPRESS OR IMPLIED.
THE IMPLIED WARRANTIES FOR MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE ARE HEREBY
EXCLUDED AND SHALL NOT APPLY TO THE PRODUCT, BUYER'S SOLE AND EXCLUSIVE REMEDY IN CONTRACT,
TORT, OR UNDER ANY OTHER THEORY AGAINST MANUFACTURER REGARDING THE PRODUCT AND ITS USE
SHALL BE THE REPLACEMENT OR REPAIR OF THE PRODUCT AS DESCRIBED ABOVE.

Limitation of Liability:  IN THE EVENT OF LIABILITY FOR DAMAGES ARISING OUT OF THIS LIMITED WARRANTY OR
ANY OTHER CLAIM RELATED TO THE MANUFACTURER'S PRODUCTS, MANUFACTURER'S LIABILITY FOR DAMAGES
SHALL BE LIMITED TO THE AMOUNT PAID FOR THE PRODUCT AT THE TIME OF THE ORIGINAL PURCHASE. IN

NO EVENT SHALL MANUFACTURER BE LIABLE FOR LOST PROFITS, THE COST OF SUBSTITUTE EQUIPMENT OR
LABOR, PROPERTY DAMAGE, OR OTHER SPECIAL, CONSEQUENTIAL, OR INCIDENTAL DAMAGES BASED UPON
ANY CLAIM FOR BREACH OF CONTRACT, IMPROPER INSTALLATION, NEGLIGENCE, OR OTHER CLAIM, EVEN IF
MANUFACTURER OR A MANUFACTURER'S REPRESENTATIVE HAS BEEN ADVISED OF THE POSSIBILITY OF SUCH
DAMAGES. MANUFACTURER SHALL HAVE NO FURTHER OBLIGATION OR LIABILITY WITH RESPECT TO THE
PRODUCT OR ITS SALE, OPERATION AND USE, AND MANUFACTURER NEITHER ASSUMES NOR AUTHORIZES THE
ASSUMPTION OF ANY OTHER OBLIGATION OR LIABILITY IN CONNECTION WITH SUCH PRODUCT.

This Limited Warranty defines specific legal rights. You may have other legal rights which vary from state to state. Some states
do not allow the exclusion or limitation of incidental or consequential damages.

——

L.
2= tGG0
S GROUP

Www.eccogroup.com

.\
)

\
0

Group Headquaters &
North American Division

ECCO

833 West Diamond Street
Boise, Idaho 83705

T:800-635-5900 or 208-395-8000

F:800-688-3226 or 208-395-8190
www.eccolink.com

© 2011 ECCO

920-0210-00 REV D (27-02-2013)

European Division

VISION ALERT

Victoria Industrial Park
Victoria Road, Leeds
England LS14 2LA

T+44 (0)113 237 5340
F:+44 (0)113 237 5360
www.visionalert.co.uk

Asia Pacific Division

AHAZARD

systems

25 York Street
Launceston, Tasmania
7250, Australia

T:+61 (0)3 63322400
F:+61 (0)3 63322480
www.hazard.com.au



